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Answer ALL TWENTY FOUR questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 In a school, there is a total of 640 children.
 The ratio of the number of girls to the number of boys is 7 : 9

 How many boys are there in this school?

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2! (a) Use your calculator to work out the value of

125 173
9 3 6 8

2 +
−. .

  Give your answer as a decimal.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Write your answer to part (a) correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 2 is 3 marks)

1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q1:  2 Marks
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Answer ALL TWENTY FIVE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 In the 2012 Paralympic Games, the total number of gold and silver medals won by Brazil 
was 35

 The ratio of the number of gold medals that Brazil won to the number of silver medals 
that Brazil won was 3 : 2

 How many silver medals were won by Brazil?

.. . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2 Sarah has a biased 4-sided spinner.
 The spinner can land on 1, 2, 3 or 4

 The probability that the spinner will land on 1, 2 or 4 is given in the table.

Number 1 2 3 4

Probability 0.4 0.35 0.1

 (a) Work out the probability that the spinner will land on 3

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Ryan is going to spin the spinner 80 times.

 (b) Work out an estimate for the number of times he should expect the spinner to land on 2

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 2 is 4 marks)

2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4H Q1:  2 Marks

Questions compiled by:
@Maths4Everyone

Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK
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Answer ALL TWENTY FOUR questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 In a school, there is a total of 640 children.
 The ratio of the number of girls to the number of boys is 7 : 9
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Answer ALL TWENTY FIVE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 In the 2012 Paralympic Games, the total number of gold and silver medals won by Brazil 
was 35

 The ratio of the number of gold medals that Brazil won to the number of silver medals 
that Brazil won was 3 : 2

 How many silver medals were won by Brazil?

.. . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2 Sarah has a biased 4-sided spinner.
 The spinner can land on 1, 2, 3 or 4

 The probability that the spinner will land on 1, 2 or 4 is given in the table.

Number 1 2 3 4

Probability 0.4 0.35 0.1

 (a) Work out the probability that the spinner will land on 3

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Ryan is going to spin the spinner 80 times.

 (b) Work out an estimate for the number of times he should expect the spinner to land on 2

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 2 is 4 marks)

2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4H Q1:  2 Marks

Questions compiled by:
@Maths4Everyone

Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK

1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q1:  2 Marks
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Answer ALL TWENTY FIVE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 In the 2012 Paralympic Games, the total number of gold and silver medals won by Brazil 
was 35

 The ratio of the number of gold medals that Brazil won to the number of silver medals 
that Brazil won was 3 : 2

 How many silver medals were won by Brazil?

.. . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2 Sarah has a biased 4-sided spinner.
 The spinner can land on 1, 2, 3 or 4

 The probability that the spinner will land on 1, 2 or 4 is given in the table.

Number 1 2 3 4

Probability 0.4 0.35 0.1

 (a) Work out the probability that the spinner will land on 3

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Ryan is going to spin the spinner 80 times.

 (b) Work out an estimate for the number of times he should expect the spinner to land on 2

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 2 is 4 marks)

2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4H Q1:  2 Marks

71+Q1!

()+.X

F

!"#$%&'()-#$!

RM! I+g1%#!+.3!d'3$!%#+21!%-/1!/-.10!$.!,#1!2+,$-!;SG
! I+g1%#!21*1$Q1%!h;A<

! E-2X!-',!,#1!+/-'.,!-L!/-.10!,#+,!d'3$!21*1$Q1%9

* h!!99999999999999999999999

VM* Z-)Q1!,#1!$.1Y'+)$,0!!!!!!!!!!!B$!R!;!f!G$!]!A

!

! !99999999999999999999999999

QR

D<'0-=*E*.-;O1F

QV

D<'0-=*$*.-;O1F

3. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 3H Q6:  2 Marks
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Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK
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Answer ALL TWENTY TWO questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Rafael and Roger played tennis against each other 30 times.
 Each of the times they played, either Rafael won or Roger won.  
 The ratio of the number of times Rafael won to the number of times Roger won is 7 : 3

 (a) Work out the number of times Rafael won.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 In a school, there are 75 girls in the tennis squad.
 The ratio of the number of boys in the tennis squad to the number of girls in the tennis 

squad is 4 : 3

 (b) Work out the number of boys in the tennis squad.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 1 is 4 marks)

4. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3HR Q1:  4 Marks

3
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Answer ALL TWENTY THREE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 There are 20 students in a class.
 12 of the students are girls.

 Find the ratio of the number of girls to the number of boys.
 Give your ratio in the form n : 1

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . : 1

(Total for Question 1 is 2 marks)

2

 Describe fully the single transformation which maps triangle P onto triangle Q.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 2 marks)

Do NOT write in this space.

P

Q

x

y
5

4

3

2

1

1 2 3 4 5O

5. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4HR Q1:  2 Marks



6. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q2:  2 Marks

3
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Answer ALL TWENTY THREE questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 A school has 840 pupils and 40 teachers.

 (a) Find the ratio of the number of pupils to the number of teachers.
  Give your ratio in the form n : 1

.. . . . . . . . . . . . . . . . . . . . . . . . . . . : 1
(2)

 In Year 11 at the school, the ratio of the number of pupils who study Chemistry to the 
number of pupils who study Physics is 3 : 2

 (b) 105 pupils in Year 11 study Chemistry.
  Work out the number of pupils in Year 11 who study Physics.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 For the 105 pupils who study Chemistry, the ratio of the number of boys to the number of 
girls is 4 : 3

 (c) Work out the number of girls in Year 11 who study Chemistry.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 1 is 6 marks)

Do NOT write in this space.

7. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4H Q1:  6 Marks
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 (a) Describe fully the single transformation which maps triangle P onto triangle Q.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

 (b) Reflect triangle Q in the line y = x.

  Label the new triangle R.
(2)

(Total for Question 6 is 5 marks)

7 The perimeter of a triangle is 90 cm.
 The lengths of the sides of the triangle are in the ratios 3 : 5 : 7

 Work out the length of the longest side of the triangle.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm

(Total for Question 7 is 3 marks)

y

x-6 -4 -2 2 4 6O

2

4

6

Q

P

8. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q7:  3 Marks

Leave 
blank

7

*H34885A0724* Turn over

7. Carlos mixes cement, lime and sand in the ratios 1 : 2 : 9 by weight.

 Work out the weight of cement, the weight of lime and the weight of sand in 60 kg of the 
mixture.

cement  ........................ kg

lime  ........................ kg

sand  ........................ kg

8. Use ruler and compasses to construct the perpendicular bisector of the line AB.
 You must show all construction lines.

Q7

(Total 3 marks)

A

B

Q8

(Total 2 marks)

9. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 4H Q7:  3 Marks

Leave 
blank

5

*N29437A0524* Turn over

4. Bronze is made from copper and tin. 
 The ratio of the weight of copper to the weight of tin is 3 : 1

 Work out the weight of copper in 280 grams of bronze.

........................... grams

5. E = {odd numbers}
 A = {1, 5, 9, 13, 17}
 B = {1, 9, 17, 25, 33}
 C = {7, 11, 15}

 (a)  List the members of the set

  (i)          ,

..................................................................

  (ii)          .

..................................................................
(2)

 (b) Explain why 

   .......................................................................................................................................

   .......................................................................................................................................
(1) Q5

(Total 3 marks)

Q4

(Total 2 marks)

A B�

A B�

A C� =�

10. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 3H Q4:  2 Marks
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Answer ALL TWENTY THREE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 A bag contains only red bricks and blue bricks.
 There is a total of 20 bricks in the bag.

 The probability that a brick taken at random from the bag will be red is 2
5

 How many blue bricks are there in the bag?

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 3 marks)

2 Pritam, Sarah and Emily share some money in the ratios 3 : 6 : 4
 Sarah gets $15 more than Emily.

 Work out the amount of money that Pritam gets.

$ .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 3 marks)

11. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2015, 4H Q2:  3 Marks
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HIJ OI

H;'/,<%!%-,:M0J

12. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2008, 4H Q2:  4 Marks
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Answer ALL TWENTY TWO questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 The table shows information about the number of goals scored in each of the 25 matches 
in a hockey tournament.

Number of goals Number of matches

1 6

2 8

3 7

4 3

5 1

 Work out the mean number of goals.

.. . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 3 marks)

2 The ratio of Mark’s age to Reeta’s age is 3 : 5
 Mark’s age is 24 years.

 (a) Work out Reeta’s age.

.. . . . . . . . . . . . . . . . . . . . . . . . . . years
(2)

 The ratio of John’s age to Zahra’s age is 1 : 4
 The sum of their ages is 45 years.

 (b) Work out Zahra’s age.

.. . . . . . . . . . . . . . . . . . . . . . . . . . years
(2)

(Total for Question 2 is 4 marks)

13. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 3HR Q2:  4 Marks

Leave
blank

4 *N23069A0420*

2. Two fruit drinks, Fruto and Tropico, are sold in cartons.

(a) Fruto contains only orange and mango.
The ratio of orange to mango is 3 : 2
A carton of Fruto contains a total volume of 250 cm3.

Find the volume of orange in a carton of Fruto.

................... cm3

(3)

(b) Tropico contains only lemon, lime and grapefruit.
The ratios of lemon to lime to grapefruit are 1 : 2 : 5
The volume of grapefruit in a carton of Tropico is 200 cm3.

Find the total volume of Tropico in a carton.

................... cm3

(3)

3. (a) Factorise x2 – 5x

........................................
(1)

(b) Multiply out x(2x + 3y)

........................................
(2)

(c) Expand and simplify (x – 4)(x + 2)

........................................
(2) Q3

(Total 5 marks)

Q2

(Total 6 marks)

14. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2005, 4H Q2:  6 Marks



3. On Trisha’s bookshelf, the ratio of paperback books to hardback books is 5 : 3 
The number of paperback books that Trisha has is 130. 
 
(a) Work out the number of hardback books that Trisha has. 
 
 
 
 
   ............................................  

(1) 
 
The 130 paperback books are split between fiction and non-fiction in the ratio 2 : 3 
 
(b) Work out the number of non-fiction books. 
 
 
 
 
   ............................................  

(1) 
 
4. The wingspan of a Boeing 747 aeroplane is 63 m. 
 A scale model of the aeroplane is made. 
 The wingspan of the scale model is 18 cm. 
 
 (a) Express the scale of the model in the form  1 : n 
 
 
  

 
 
   ............................................  

(3) 
 
 The tail height of the scale model is 5.8 cm 
 
 (b) Work out the tail height of the real aeroplane. 
  Give your answer in metres. 
 
 
 
 
  

 
 
   ............................................  

(3) 
  

15. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

September by Maths4Everyone.com, Extra Q3:  2 Marks

1'#P'+

O.#&R

A

!"#$%&&'%#&$! <?;(*'L8;

G(1A8;*G&&*<M+D<C*ED+*>?810/'(1F

M;/08*H'?;*-(1A8;1*/(*078*1B-981*B;'L/)8)F

C'?*.?10*A;/08*)'A(*-==*10-:81*/(*H'?;*A';N/(:F

OF+ 1#*5+/'#(+%&+C#5L*5-Q&+B%8L+3@L--.M+5L'+(#5%-+-?+5L'+&,$O'(+-?+@#&2%2#5'*+?-(+
4]93!+$#5L'$#5%@*+5-+5L'+&,$O'(+-?+@#&2%2#5'*+?-(+4]93!+O%-.-8/+Q#*+X+K+F

+ 0L'+&,$O'(+-?+@#&2%2#5'*+?-(+4]93!+$#5L'$#5%@*+Q#*+EG

+ 6#7++T-(R+-,5+5L'+&,$O'(+-?+@#&2%2#5'*+?-(+4]93!+O%-.-8/;

;;;;;;;;;;;;;;;;;;;;;
IJK

++++++ 0L'+ EG+ $#5L'$#5%@*+ @#&2%2#5'*+ Q'('+ 2%P%2'2+ O'5Q''&+ ^-,&2#5%-&+ #&2+ B%8L'(+ %&+ 5L'+
(#5%-+D+K+A

++++++ 6O7++T-(R+-,5+5L'+&,$O'(+-?+^-,&2#5%-&+@#&2%2#5'*;

;;;;;;;;;;;;;;;;;;;;;
IJK

JF+ _$#(+5(#P'..'2+?(-$+:#%(-O%+5-+C-$O#*#+O/+5(#%&;
+ 0L'+`-,(&'/+5--R+DA+L-,(*+DX+$%&,5'*;
+ 0L'+#P'(#8'+*=''2+Q#*+UG+R$YL;+

+ T-(R+-,5+5L'+2%*5#&@'+?(-$+:#%(-O%+5-+C-$O#*#;

;;;;;;;;;;;;;;;;;;;;;+R$

PO

I<'0-=*!*.-;N1K

PJ

I<'0-=*$*.-;N1K

16. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2009, 3H Q1:  4 Marks
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17. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2007, 4H Q5:  2 Marks
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6 E = {positive whole numbers less than 19}
 A = {odd numbers}
 B = {multiples of 5}
 C = {multiples of 4}

 (a) List the members of the set

  (i) A � B

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

  (ii) B � C

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 D = {prime numbers}

 (b) Is it true that  B � D = � ?

  Tick (9) the appropriate box.
 Yes No

  

  Explain your answer.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 6 is 3 marks)

7 Lisa, Max and Punita share £240 in the ratio 3 : 4 : 8

 How much more money than Lisa does Punita get?

£.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 7 is 3 marks)

18. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4H Q7:  3 Marks
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9 (a) Expand   x(x + 2) 

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 (b) Solve the inequality   4x # 7  > 3

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (c) Solve   3 5
4

8− =m

  Show clear algebraic working.

m = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 9 is 6 marks)

10 The lengths of the sides of a triangle are in the ratios 2 : 6 : 7
 The length of the longest side of the triangle is 24.5 cm.

 Work out the perimeter of the triangle.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .cm

(Total for Question 10 is 3 marks)

19. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q10:  3 Marks



!K 0C'+$'#&+C'%ACD+-6+#+A(-,4+-6+:+A%(.*+%*+<YX 7$H

8#9 T-(O+-,D+DC'+D-D#.+C'%ACD+-6+DC'+:+A%(.*H

HHHHHHHHHHHHHHHHHHHHHHHHH 7$

CNE

K#(#C+_-%&*+DC'+A(-,4+#&2+DC'+$'#&+C'%ACD+-6+DC'+Y+A%(.*+%*+<YR 7$H

8I9 T-(O+-,D+K#(#C)*+C'%ACDH

HHHHHHHHHHHHHHHHHHHHHHHHH 7$

COE

C;&/,<)!)-,:M0E

QK 3.,$I'(*) *-.2'(+%*+$#2'+6(-$+D%&+#&2+.'#2H

0C'+(#D%-+-6+DC'+N'%ACD+-6+D%&+D-+DC'+N'%ACD+-6+.'#2+%*+< B >

8#9 T-(O+-,D+DC'+N'%ACD+-6+D%&+#&2+DC'+N'%ACD+-6+.'#2+%&+<>? A(#$*+-6+4.,$I'(*) *-.2'(H

D%&+ HHHHHHHHHHHHHHHHHHHH A

.'#2+HHHHHHHHHHHHHHHHHHHH A

CDE

8I9 TC#D+N'%ACD+-6+4.,$I'(*) *-.2'(+7-&D#%&*+>Y A(#$*+-6+D%&`

HHHHHHHHHHHHHHHHHHHHHHHHHHH A

CNE

C;&/,<)O)-,:M0E

#$%&$
'(%)*

E>?U<<5Q :

PQ

P!

20. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q5:  3 Marks

71+V1!

()+.X

I

;>:')&K7:!"#$%&&'&(#&!

F'0@7:)F%%);L*C;B)DC*)=>70/.&'0E

L:./7)G&>:),'0@7:0).')/67)0A,870)A:&K.(7(E

B&>)->0/)@:./7)(&@'),<<)/67)0/,970).')G&>:)@&:M.'9E

NE! "#1!3$+82+/!%#-4%!,#1!)1.8,#%K!$.!*/K!-L!,#1!%$31%!-L!+!,2$+.8)19

! "#1!&12$/1,12!-L!,#1!,2$+.8)1!$%!J= */9

! M$N! ]%1!,#$%!$.L-2/+,$-.!,-!42$,1!+.!1Y'+,$-.!$.!!9

9999999999999999999999999999999999999999999999999999999

) M$$N! \-)V1!0-'2!1Y'+,$-.9

!!^!999999999999999999999999999

IE! C._$!/$61%!%+.3!+.3!*1/1.,!$.!,#1!2+,$-!= S ;!(0!41$8#,9

! "#1!,-,+)!41$8#,!-L!,#1!/$6,'21!$%!;= X89

! W+)*')+,1!,#1!41$8#,!-L!%+.3!$.!,#1!/$6,'219

999999999999999999999999999!X8

ON

H;&/,<)P)-,:M0J

!
MI!!R!AN

M;!!`!JN

OI

H;&/,<)P)-,:M0J

21. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2007, 4H Q2:  3 Marks



7

*P41036A0720* Turn over

9 

8.6 cm
Diagram NOT 
accurately drawn

6.9 cm

x cm

 Work out the value of x.
 Give your answer correct to 3 significant figures.

x  = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 9 is 3 marks)

10 Solve 3x!"!#$!%!#!&!'x
 Show clear algebraic working.

x  = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 10 is 3 marks)

11 Jack, Kate and Lila share some money in the ratios 5 : 9 : 6
 In total, Jack and Kate receive £56

 Work out the amount of money Lila receives.

£ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 11 is 3 marks)

22. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2013, 4H Q11:  3 Marks

8

*P44393A0824*

7 The diagram shows two points S and T.
 The bearing of T from S is 043°

Diagram NOT 
accurately drawn

North

43°

S

T

 Work out the bearing of S from T.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °

(Total for Question 7 is 2 marks)

8 Flaky pastry is made using flour and fat in the ratio 9:7 by weight.
 Cassie makes some flaky pastry.
 She uses 175 grams of fat.

 (a) Work out the weight of flour Cassie uses.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . grams
(2)

23. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2015, 4HR Q8:  6 Marks



9

*P44393A0924* Turn over     

 Sweet pastry is made using flour, fat and sugar in the ratio 27:14:9 by weight.
 Luke makes some sweet pastry.
 The total weight of flour, fat and sugar he uses is 400 grams.

 (b) Work out the weight of flour Luke uses.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . grams
(2)

 Elisha makes some flaky pastry and some sweet pastry.
 She uses the same weight of flour for the flaky pastry as she does for the sweet pastry.

 (c) Work out the ratio of the weight of fat she uses in the flaky pastry to the weight of fat 
she uses in the sweet pastry.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 8 is 6 marks)



10

*P43075A01024*

10� 0RUWDU�PL[�LV�PDGH�E\�PL[LQJ�FHPHQW��VDQG�DQG�TXLFNOLPH�LQ�WKH�UDWLR����������

� �D��:RUN�RXW�WKH�YROXPH�RI�VDQG�QHHGHG�WR�PDNH�����P3 of mortar mix.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .  m3

(2)

 Julie has 0.75 m3 of quicklime.

� 6KH�KDV�SOHQW\�RI�VDQG�DQG�FHPHQW�

� �E��:RUN�RXW�WKH�JUHDWHVW�YROXPH�RI�PRUWDU�PL[�VKH�FRXOG�PDNH�

. . . . . . . . . . . . . . . . . . . . . . . . . . . .  m3

(2)

(Total for Question 10 is 4 marks)

Do NOT write in this space.

24. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q10:  4 Marks


